Constable (GD) in CAPFs, NIA, SSF and Rifleman (GD) in Assam
Rifles Examination, 2018

[Roll No. : AE L EE

IRegistration No. LT

Name : T R AR

[Exam Venue : iON Digital Zone iDZ 1 Sector 62
[Exam Time : 4:00 PM - 5:30 PM

[Exam Date : 01/03/2019
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063 2010 TRy W H EE A S o /R Fro =i B et & wd ame S

e g ST
X 2 e gecirerer
X3 SrFaTTer At WA
X4 TEARTEAT AT

Question ID : 9895807256
Chosen Option : 4

% g ¥ o NI T AT vET SEer BT W 2
Ans v ST

X o AT

X3 wEaTr

X o e

Question ID : 9895807273
Chosen Option: 1

% o Fe Y P & S & R R a€ gam e

Ans X1.1906
v 21905
< 31913
X 4 1911

Question ID : 9895807277




l Chosen Option : 2

% IFaS T IR MG AE IEE F OWE FiA 82
Ans X 1. AT o 35w

X 2 TSleg g

X 3 FIER Teaes 9o

4 FgTeAT FMedr

Question ID : 9895807259
Chosen Option : 1

Q3 ek e TR TR ST T AR S A T i S 5 8
L

X 2 fEs

v 5 FETerT

X4 afEEs

Question ID : 9895807254
Chosen Option: 3

U3 sty s 3 fewran i Rt @fyer P R af ot S

ans X 1. 2017
X 2 2014
X 3 2016
v+ 2018

Question ID : 9895807265
Chosen Option : 2

Q3 gl & ¥ s T TR (oo sty FeET A Rfreen = o S g

Ans

X1 3eT-gEEEr 9

v 2 FourEmfeaeim av-aa
X3 FEer I

X 4 Y5F HTEEL a1

Question ID : 9895807270
Chosen Option : 2

Y AeH 3o gL [Eaw TOrEe STe TSl AT e UT?
Ans xl ﬂ |>-|




Xz.gﬂﬁi
v 3 ERT YFIE
X 4 |rEY

Question ID : 9895807276
Chosen Option: 1
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% TRTFT SR 7 oF8 STl & GRS 7o 872
Ans XT ﬂ'ﬂg‘r

X 2 gfrer

v 3 et

X4 Ty




Question ID : 9895807253
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Question ID : 9895807599
Chosen Option: 1

Section : English Language

Q1 Select the correctly spelt word.

Ans - 1. Amandment
& 2. Amendement
# 3. Amindment
v 4 Amendment

Question ID : 9895807927
Chosen Option : 2

Q2 Select the correctly spelt word.

Ans  of 1. Benevolent
/< 2. Benobolent
& 3. Benevolant
< 4 Banevolant

Question ID : 9895807928
Chosen Option : 4

Q.3




Select the antonym of the given word.

IGNORANCE
Ans X 1. Possession

+ 2. Knowledge

/< 3. Idea

/< 4 lliteracy

Question ID : 9895807922
Chosen Option: 1

Q4 salacr the most appropriate word o fill in the blagk.

The  chosen for constmetion of the office iz in the heart of the locality,
Ans X 1. cite
W 2 site
/< 3. sight
/< 4 slight

Question ID : 9895807929
Chosen Option : 2
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Ans X 1. Tt is known to all

/< 2. the company is

« 3. welfares of the employees

/< 4. exceptionally clear about
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Q6 Select the synonym of the given word.

ANGUISH
Ans  of 1. Ache
X 2. Solace
< 3. Peace

/< 4. Security

Question ID : 9895807919
Chosen Option: 1




Q7 Select the antonym of the given word.

DOMINANT

Ans X 1. Fixed
' 2. Submissive
X 3. Slow
X 4 Gentle

Question ID : 9895807921
Chosen Option: 3

Q.8 Zelect the most appropriats option to fill in the blank.

Faglfood  mochensepy toodipest, leavioe s persoo ool siler ik consomplion
Ans - X 1. need
/< 2. needing
« 3. needs
< 4 needed
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Most of roe adulrs do nas koo hame e deal wrh stoess, @vs dwongh they moants i tsazl dedr ohibdnes aboes .

Ans X 1. how to deal with stress
& 2. Most of the adults
' 3. wants to teach their children
/< 4. even though

Question ID : 9895807905
Chosen Option: 3

Q61 Selecr the most appropriate option to fill o the blank

e peaple, e experience of teving Livest o dreaos is more Ui just s feeling,
Ans  of 1. many
& 2 much
/< 3. more
< 4 alot

Question ID : 9895807911
Chosen Option: 1

Q.1




Select the word which means the same as the group of words given.

A person emploved to drive a private or hired car.
Ans o 1. Chauffeur

/< 2. Transporter

3 Pilot

< 4 Rider

Question ID : 9895807925
Chosen Option : 1

Comprehension:

In the following passage some words have been
deleted. Fill in the blanks with the help of the

alternatives given.

WHO has declared obesity as a global (1)

Earlier, obesity was seen as a disease of high-income
countries only. But now, the global trend has been
observed. There is an (2) need of making the
public aware about the (3) effects of obesity.
Outdoor sports and activities should be encouraged by
(4) the school authorities and parents to tackle
the rising cases of childhood obesity. Healthy eating
habits and an active life style should be (5) by
the individuals of all age groups and genders, to
prevent obesity.

SubQuestion No : 12
Q.1 - i : -
, Select the most appropriate option that will fill in

the blank number 1.
Ans 2 1. outbreak

+ 2. epidemic

/< 3. infection

/< 4. contagion

Question ID : 9895807914
Chosen Option: 1

Comprehension:




In the following passage some words have been
deleted. Fill in the blanks with the help of the

alternatives given.

WHO has declared obesity as a global (1)

Earlier, obesity was seen as a disease of high-income
countries only. But now, the global trend has been
observed. There is an (2) need of making the
public aware about the (3) effects of obesity.
Outdoor sports and activities should be encouraged by
(4) the school authorities and parents to tackle
the rising cases of childhood obesity. Healthy eating
habits and an active life style should be (5) by
the individuals of all age groups and genders, to
prevent obesity.

SubQuestion No : 13
°3-1 Select the most appropriate option that will fill in

the blank number 2.
Ans X 1. quick
/< 2. thrilling
/< 3. exciting
o 4 acute

Question ID : 9895807915
Chosen Option : 1

Comprehension:




In the following passage some words have been
deleted. Fill in the blanks with the help of the

alternatives given.

WHO has declared obesity as a global (1)

Earlier, obesity was seen as a disease of high-income
countries only. But now, the global trend has been
observed. There is an (2) need of making the
public aware about the (3) effects of obesity.
Outdoor sports and activities should be encouraged by
(4) the school authorities and parents to tackle
the rising cases of childhood obesity. Healthy eating
habits and an active life style should be (5) by
the individuals of all age groups and genders, to
prevent obesity.

SubQuestion No : 14
Q" Select the most appropriate option that will fill in

the blank number 3.
Ans  of 1. serious

/< 2. unimportant

X 3 dull

/< 4 lonely

Question ID : 9895807916
Chosen Option : 2

Comprehension:




In the following passage some words have been
deleted. Fill in the blanks with the help of the

alternatives given.

WHO has declared obesity as a global (1)

Earlier, obesity was seen as a disease of high-income
countries only. But now, the global trend has been
observed. There is an (2) need of making the
public aware about the (3) effects of obesity.
Outdoor sports and activities should be encouraged by
(4) the school authorities and parents to tackle
the rising cases of childhood obesity. Healthy eating
habits and an active life style should be (5) by
the individuals of all age groups and genders, to
prevent obesity.

SubQuestion No : 15
&1 Select the most appropriate option that will fill in

the blank number 4.

Ans 1. either
' 2. both

/< 3. neither
< 4 some

Question ID : 9895807917
Chosen Option : 2

Comprehension:




In the following passage some words have been
deleted. Fill in the blanks with the help of the

alternatives given.

WHO has declared obesity as a global (1)

Earlier, obesity was seen as a disease of high-income
countries only. But now, the global trend has been
observed. There is an (2) need of making the
public aware about the (3) effects of obesity.
Outdoor sports and activities should be encouraged by
(4) the school authorities and parents to tackle
the rising cases of childhood obesity. Healthy eating
habits and an active life style should be (5) by
the individuals of all age groups and genders, to
prevent obesity.

SubQuestion No : 16
@1 Select the most appropriate option that will fill in

the blank number 5.
Ans 1. conformed
/< 2. adapted

#< 3. discarded
« 4 adopted

Question ID : 9895807918
Chosen Option: 1

7

A person who compiles dictionaries.
Ans  of 1. Lexicographer

/< 2. Linguist

< 3. Writer

#< 4 Author

Q1 Select the word which means the same as the group of words given.

Question ID : 9895807926
Chosen Option: 1

Q.1




8 sl Ml mpsd ppprupante ol e subsliu e the gdeclined wecmeat in e cdveen senence U by i pe neisd 1o
R T UL o W T oLl

Bk oo the childres brradse the sldecs exoved she fuscuog wors equal 1o

Ans o 1. No improvement
/< 2. enjoys the function with equal joy.
/< 3. enjoying the function with equal joy.
/< 4. are enjoy the function with equal joy.

Question ID : 9895807910
Chosen Option : 1

Q.1 elesr wmmeelappeasciate eplize ez belilnie e nsiber lined seeenent i piven sienee. Ui 1 no new?
9 sibsline il, s2lens Mo mmprov=2inend.

Liood plapcceg mill sed o sagne cuf e g ormepsane | oy e thodr 2y ol

Ans X 1. No improvement
« 2. setting out on an overseas journey
/< 3. setting out off an overseas journey

/< 4. setting out of a overseas journey

Question ID : 9895807908
Chosen Option : 3

962 Select the most appropriate woud to fill i the blank.

Scientists extiinate (et thers are about Siillion  of plastic io U ovean oo,
Ans  of 1. Pieces
# 2. Blanks
/< 3. quantities
/< 4. Squares

Question ID : 9895807930
Chosen Option : 1

°1'2 Select the option that means the same as the given idiom.

To break the ice
Ans X 1. To avoid someone
/< 2. To avoid social gatherings
< 3. To melt ice cubes

« 4 To eliminate shyness

Question ID : 9895807924
Chosen Option : 2




Q.2 From the ghree apiioas, Mewliv e sogwear i che sootones which coaras the Caminatieal Sozor
2

Ir ook 3 Shacnss meoes e s0r o of sedenocls 1B gun g pocfest cemredy for 1l salacy
Ans X 1. It took Mr. Sharma

' 2. more than six month

& 3. to find out

/< 4 remedy for the malady

Question ID : 9895807906
Chosen Option : 2

Q2 B
5 Select the synonym of the given word.

GRUMBEBLE
Ans  of 1. Moan

< 2. Murmur

/< 3. Gossip

/< 4 Whisper

Question ID : 9895807920
Chosen Option : 2

Q.2 et e meced ppprpsiste opfinn e ookt e afeclined rcmentin Ge pdven s 17 Geo i o el
4 suminuie L el My oo B

b p0poctUnres 10 Deieace 1T SALOGCRT WL COMISS WO WY 1 1R LD

Ans  of 1. your earnings will come your way
/< 2. vour earnings will come on your way
/< 3. vour earnings will came vour way

/< 4. No improvement

Question ID : 9895807909
Chosen Option: 1

Qéz Select the option that means the same as the given idiom.

To scale up
Ans o 1. To increase the size, amount or importance of
/< 2. To go high on spending and exceed one’s limit
/< 3. To measure something in terms of length and breadth

/< 4. To create a good idea and to try it out

Question ID : 9895807923
Chosen Option : 4




J

¥ Ru aTT a # 9g 4T A A e # IRR

BATex amay & gEe & f Fd Hr AR @
SR oo

v 2 AT ATy A

X 3 gHHT

X 4 Fr T =

Question ID : 9895806685
Chosen Option : --

! Rea T F o F R s g # T w+

T drsdic @ gl
Ans x_lg_a_

X2 @

X 3 gy

W 4 TTEdr

Question ID : 9895806689
Chosen Option : --

Comprehension:
ol s & Rea et #r 9fa @anr &
A foT 1T geat & AR HfAT -

HIGHT T Ig=Te IHhT (1) & gr g 3k
YT FEFT ¥ 99441 &1 oEF AT ¥R g, 39T
& ST ST 2N S IS HEHT ST Srerar ¥ oar
Y # 3+ (2) off srora &1 T FROT ®
o srar Rerr @1 gTfeT e IR (3) &
Saer TIfNH Flerer e SA-Serdy sreT &

(4) 7T & T &1 Faer TYWOT & ST
& &, (5) & = FE a9 FaT A4 @
HehdT




SubQuestion No : 3
¥ aregryr & e Rea wue (1) & e suge
e BT -
Ans ?{1- ﬁT&:'T
K 2 GIA-a1e
o 3 T

< 4 agATe

Question ID : 9895806694
Chosen Option : --

Comprehension:
fr=faf@a seamr & Reaa wuEr #r 9fd ez &
A fgw 1T gedt & argER HiTw -

HTEHT Fr Tg=TT FHET (1) & gt § 3R
STST TR ¥ §9ar 21 orEe S g gien, 3
g 3T oW g 59 Fie HEHT e Siear g A
T H IWH (2) ofr Sror &1 TEr FROT E
for s freres @ arfde TRaT AR (3) &I
oo T e T S-Sy s &

(4) FET & Fa &1 Faor HIWOT & ST
7 &, (5) & Ta=w wg arwr Shea w4 @
ol

SubQuestion No : 4
¥ areay # wlaa Nea @ (2) % BT svge
oTeg gI9T -
Ans x 1 -
v 2w
< 3 AT

X g

Question ID : 9895806695
Chosen Option : --

Comprehension:




o g & Rea et & qfa eanr &
A fgw 1T gedt & argER HiTw -

HEHT T Ig=TT FHT (1) & gt & 3R
YT FERR ¥ F44T ¢ orEsF 3% g g, 3
&7 SHeT AT BT S HIs HGHT AT Sierar g ar
T F 355 (2) of Srora &1 T FROT §
for s Rere @1 afies TeeR AR (3) Tl
el ek ielel [dr SATAl-STeTar ST 3R

(4) FET & Heha &1 FHaer HIWUT &7 AT
A& g, (5) % Taew W amwr SfEa A @
Hehdl|

SubQuestion No : 5
¥ areay # wHlaa Nea T (3) & T suge
feg g9 -
e X0 e
X 2 frdw
o 3 HTA
< 4 E__l.?-ﬁ?-ﬁ':l'Usf

(%

Comprehension:
@ srearer & Rea et i qfa aeanr &
A foT 1T geAt ¥ IgER AT -

HiestT fr qg=IT ITH () e g AR
ST FFFR & g4 B Oy 3% g g, &
&r ST ANT g S HIT HGHT AT Srerar g ar
T # IEH (2) off Sror &1 TET FROT §
o s Rt @1 afie e AR (3) Tl
Fael I P [T SA-SAETdr STST T

(4) FEr & Heha &1 FaeT HUWOT & AT
FEE, _ (5) % Tamw W smwr Shew A @
HehdTl

SubQuestion No : 6
Q.6

Question ID : 9895806696
Chosen Option : --




e H Tanlad ad T (4) F v s9gea
e BT -
Ans  of 1. 3ETEIUT
< 2. JHIUT
;(3.3-5";
< 4 ergoT

Question ID : 9895806697
Chosen Option : --

Comprehension:
@ srearer & Rea et i qfa seamr &
A fow 1T 9ot ¥ R AT -

Hiesr fr qgEIT IHH (1) & grr ¢ 3k
ST FFFR & g4 B s 3% g g, &
& sTFr oIS 2T S S HHT ST Serar ¥ oar
oy F 3% (2) of So &1 TEr FROT §
o sar vt 1 aTfeT e AR (3)
Fad Ty Flere R Shf-Srerdr s &

(4) & 8 Twa ¥ Faer wowor & s
e g, (5) % T *F samwr Shaw wE
HehdTl

SubQuestion No : 7
¥ sy & wHfaa Nea T (5) & forw suged
e g -
Ans X1 e
< 2 gagar
o 3 3TTERIT
< 4 pHT

Question ID : 9895806698
Chosen Option : --

& T e ¥ qOTOEET e T SO *Y

=T
Ans XK1 Shaer
X 2 dsT




X3 e
VAR G

Question ID : 9895806702
Chosen Option : --

Q9 i ¥ 7 79 e 7 W 7 3 ST e g = v = T

Ans ?(1- mﬁ w
X 2 = ST gHRAT

< 3. oJehdle hidl

v o Ffear ST

Question ID : 9895806704
Chosen Option : --

% Roa &= &1 s & forT s9gea e #1 99T H

FIforery Fiaar ez
Ans xl @!’

X2 &

X3 @y

v T

Question ID : 9895806690
Chosen Option : --

Y RT T A # 9 9 A Y e #E TR R
ST, el FomA IR AAS TH-gEY F e & A g

M 1 . 3Tege ForH
X 2 THGE &
X 5 9T g I g

X 4 A fAaEe

Question ID : 9895806683
Chosen Option : --

4 e v ereg @ ReE T

T




Ans X 1. ST
o &
X3 g9g
X 4 Tedr

Question ID : 9895806699
Chosen Option : --

U1 fow m EmT A TR dE S AR S & BT e e w1 e =)

T TEE #r AT TR T
Ans X1- Hﬁ

X 2. HTRTA

V'3 garer

X 4 oA

Question ID : 9895806688
Chosen Option : --

041 few AT # it 0w lEee T mae ¥ T e Reen s oaaa w2
T e E AT I T
Ans  of 1. fegaTe
X 2 T
X 3 da
X 4 AT

Question ID : 9895806686
Chosen Option : --

% RT T e # REE I

=F

Ans x1_ asr
X 2. GepTer
X 3 gHem
v i RfaT

Question ID : 9895806700
Chosen Option : --

Q.1




few a7 g # rEiE B s SRl F F By o Eees @ oaua =)
TH FEE W MER LEE AT §E [EE T
Ans o e A
Ko giea @
v gufaa @
Ko g g

Question ID : 9895806687
Chosen Option : --

U Ry I AT F AT UE o AT

Sraehr g o=l &
Ans (13—13-‘!‘@

X 2 g

=

X 3 Serd

?(4.31'-5'

Question ID : 9895806705
Chosen Option : --

% Y T I F BT o aeg A
A fore g%

s X =@

X 2 3gfafea

v i St

X 4 gEaferraEd

Question ID : 9895806706
Chosen Option : --

U BT T areg F TATTEEY e T T9E
FT

Ans ?(1_31?,{

v 2 Far

X 3 I




& 4 T

Question ID : 9895806701
Chosen Option : --

T R I A e & T suged e F uTT

arar # 3% @2
Ans o 1. HTERTT

X 2 9gTS

?(3.;@-

X 4 ardTer

Question ID : 9895806692
Chosen Option : --

% TEr IS arer oeg W IO FI

Ans X1 gHEEA
X 2 g
v GET
X 4 qHaSA

Question ID : 9895806708
Chosen Option : --

U T8 IS ey oeg W 9O FY

Ans !‘I. %E&QE‘FH
X2 redwara
X s Erdeary
< 4 drEmeaTd

Question ID : 9895806707
Chosen Option : --

Q2 frfftm # & 77 Bee 7 95 81 A HF TE SR A vl e R

e K IR g
X o TS AT

J33=|:3'§E1?-|T

X 4 Hg H g 8 AT




Question ID : 9895806703
Chosen Option : --

% RT 7T T 1 T8 o497 A9 wY o A TR
FAN 9 T FEE Wi AR 9" T 353 Fal g2
X g R
X 2 TR G
K3 T8 3T Fel 87
o 4 FATL 93 F

Question ID : 9895806684
Chosen Option : --

Qézﬁﬁma#m#ﬁvmgﬁalﬁwmﬁl

T W T E Cice ke i
Ans «1%

X 2 |y

X s Tr

?(4.qi§'

Question ID : 9895806691
Chosen Option : --




